8 6 4 3 DWG. NO. SIZE | REV. | SH.
I 5 21F720 | A |1 1
ITEM ||PART NO. QTY DESCRIPTION MATERIAL
1 |[21F721 1 Flat Panel Assembly
TOP 2 [[21F731 1 Inner Vertex Inline Holes & Slots
3  |[21F732 1 Inner Vertex Inline Holes & Pinholes
4  ||21F733 2 Inner Vertex Inline Holes
5 ||21F741-2 8 Composite Screw, M3 X 8.01g
6 ||21F741-1 8 Taper Pin, 3 X 6.01g
7 21F741-3 8 Composite Nut, M3
O
O
O
O
UNLESS OTHERWISE SPECIFIED | SHOP ORDERS [ ERNEST ORLANDO LAWRENCE
Tlxx:05  [FRAC : 164 |5 o | BERKELEY NATIONAL LABORATOR Yegeaer
D ADHESIVE BOND UNDER HEAD OF SCREW, ITEM 5, AT TIME OF ASSEMBLY £ [XXX 025 |ANGLES +30' |76 PeoD UNIVERSITY OF CALIFORNIA - BERKELEY
2 [X.XXX+0.013 [FINISH 1.6 SREATUENT LBNL ATLAS
DO NOT SCALE PRINT | werop ™e
e —— A SIDE END CONE ASSEMBLY
: : NUMBER AL SCON S8 STEN 1050
THIRD ANGLE PROJECTION A3 01/17/03 |ltem 6 now Composite material CHAMFER ENDS OF ALL SCREW THREADS 30° PROJEC)S ATLAS SILICONE SUBSYSTEM | MICROFILMED! pp— ooy Jeone 111 onor
— A2 01/17/03 |Added item 7 CUTFOUID 18 TREIDRELEF OV MCIND TRE0S WG Roger St DATEO4/15/2002 ASSEM | nnXnnn SHEET 1 OF 2
I-\l Al 01/17/03 |ltem 5 was Soc Hd Sc, M3 X 5.0 Ig Ve UM LD SPLATTER & Lobet enLe cHK CKD BY DATE 04/15/2002| PATENT CLEAR: [DESIGN ACCT.NO. | CATEGORY CIDE | DWG. NO. SIZE | REV.
REV [DWG| CHK |ZONE DATE CHANGES IN ACCORDANCE WITH ASME Y14.5m & B46.1 ’;‘\F;R APPROVED DATE 04/15/2002 P1AP-11 AP6250 21F720 A




DWG. NO.

21F720

SIZE | REV.

ITEM| PART NO REQD DESCRIPTION MATERIAL

(45.0°)

(10.100
4 SURFACES
R 139.843) ,
X/// / SECTION A-A
A /
74 /
ya
/| N—/ N— N—/ L_AI N— N—/ N—/ N—/] //
¢ ¢ 7
(34545454 bsqsqs¢s
N ()
@
|
\ 0 0D
T — UNLESS OTHERWISE SPECIFIED | SHOP ORDERS [ ERNEST ORLANDO LAWRENCE
g X.X + 0.5 FRAC. + 1/64  |[RSCT o | e BERKELEY NATIONAL LABORATORYeeeeer
£ [XXX 025 |ANGLES +30' |76 R UNIVERSITY OF CALIFORNIA - BERKELEY
2 [X.XXX+ 0.013 |FINISH 1.6 EAENT
DO NOT SCALE PRINT |k ™ LBNL ATLAS
DIMENSIONS AND TOLERANCES ARE “AS BONDED AND REFERENCE”, AND ARE TO BE OBTAINED USING e At crce s PROJECT A1 1B EDXO | e A SIDE END CONE ASSEMBLY
BONDING FIXTURES DURING ASSEMBLY ONLY. NO MACHINING ALLOWED WITHOUT PRIOR APPROVAL. — A3 01/17/03 [ltem 6 now Composite material e DS O AL SeE A a0 PROKECT;5 ATLAS SILICONE SUBSYSTEM | mcromnes | ove.rvee oo e 11 oo —
2 01/17/03 |Added item 7 CUT ROUND, 15 THREAD RELEF ONMACHNED THREA0S DG 0™ [ oarns/2002 ASSEM | nnXnnn SHEET 2 OF 2
- Al 01/17/03 |ltem 5 was Soc Hd Sc, M3 X 5.0 Ig z:;/;izzi:j:f%::‘;:::IzEz(iZRSiALE cHK CKD BY DATE 04/15/2002| PATENT CLEAR: |DESIGN ACCT. NO. | CATEGORY CIDE | DWG. NO. SIZE | REV.
I\, REV |[DWG| CHK |ZONE DATE CHANGES IN ACCORDANC; WITH ASME Y14.5m & B46.1 S‘\F;R APPROVED DATE 04/15/2002 P1AP-11 AP6250 2 1 F 7 2 O A
8 7 6 5 ! 4 3 2 1




